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Consider a three-phase induction motor, Y connection, sequential a-b-c in
phase; line stator current i,s= 10c0s(100t) A, ips= 10c0s(100t) A, i=
10cos(100t) A, Calculate the d, g currents (i — jig) in stationary and
synchronous frames: (35%)
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Explain the control techniques of indirect rotor vector control for a

three-phase induction motor. Some referred equations in the steady-state are
shown in the following.  (35%)
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3. Explain the differences of the control techniques between vector control and
direct torque control for the control of a three-phase induction motor.
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